HP  UNIT 3A  - TRIANGLES 
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Make sure your calculator is set to DEGREES and your calculator shows a non right triangle as shown below.
You will asked to enter three (3) out of the six (6) values and you must provide at least one side.
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1. The screen shows  B = 15     α = 48O  and β = 34o. Enter these values.
  a) Write the Trig. Rule used to find the length of side A
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2. The screen shows three sides given
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3. Use the information from the screen to find side B. Show full working.
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4.i)  Draw  the following triangle.
   β = 20o    B = 6cm  and  C = 10cm
ii) Enter the information into your TRIANGLE SOLVER APLET

iii) Press SOLVE and write out the answers for the missing side and angles


You will notice that an additional button label of                      will appear to announce that an alternative solution is available.


iv) Press                        and write out the answers the calculator gives.


v) Draw the triangle that gives this                    solution.

5.Solve the following triangles, if more than one solution exists, give both.

               qo          8m                                                      wo     27m

       32o              ro                                                  29m            60o
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PART B
The Cosine Rule states   

This can be written as:

If  C = 50o and b = 6cm , the equation can be written as :

a) Use your CAS calculator to graph the equation. Let x be the a value and y be the c value. Follow the screens below to help you.
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b) Is there an “a” intercept? With the aid of a diagram of a triangle, explain why.

    (HINT: can c be zero?)

c) What is the minimum value of c ? Draw the triangle with the minimum value of c.

    What type of triangle is it ?

d) What is the value of c when a = 0. In terms of the diagram, does this make any sense? Why?

e) Do negative values of a have any meaning? Why?

HP UNIT 2D- COSINE RULE

Validation Test

The Cosine Rule states   

This can be written as:

1. a)  If  C = 60o and b = 7cm ,write  the equation in a simplified form in CAS 

b) Use your CAS calculator to graph the equation. Let x be the a value and y be the c value. Sketch the graph below showing all critical points.

c) Complete the table below.

APLET





TRIANGLE  SOLVE





SOLVE





b) Press  





The three missing values will be highlighted





a) Write the Trig. Rule used to find the size of angle β.




















b) Press                             and 





complete the missing angles.








SOLVE





c2 = a2 + b2 -2ab Cos C





c  = � EMBED Equation.3 ���





 c= � EMBED Equation.3 ��� 





Highlight the function and press PLOT





c2 = a2 + b2 -2ab Cos C





c = � EMBED Equation.3 ���
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